Tip-To-Tip Shawl - Manarola

No. 1001-194-6888

Materials: Measurements: Ca. 210 x 57 cm
- Manarola col. 1_0 Abbreviations:

- Crochet hook size 5.5 mm St: stitch(es)

Buy yarn and accessories here: Ch: chain stitch

http://shop.hobbii.com /tip-to-tip-shawl-manarola Dc: double crochet

Usage approx.: 325g (4 balls)
Gauge: Approx. 15stx 8 rows =10x 10 cm

Hobbii.com - Copyright © 2019 - All rights reserved.


http://shop.hobbii.com/tip-to-tip-shawl-manarola

I 4:.hobbil

Information:

All rows are turned with ch 3, which equals 1 dc. The last dc is worked in the third ch from previous

row. Please note, that it tends to hide a little bit &

W

Pattern:

1. Ch 3 and work 1 dc in 3rd ch from hook. (2)

2. Ch3toturn. Work 1 dcin first stand 1 dcin last st. (3)
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1. Ch 3 to turn. (represents 1 dc) 2. Increase by working 1 dc in first st. Here the
stitch is marked by the needle.

3. Like this. You now have 2 dc in the first st, 4. Work 1 dc in last st. You have now increased 1
because the ch 3 represents 1 dc. st on this row.

3. Ch 3 toturn. Work 1 dcin first st and 1 dc each of the last 2 st. (4)

1. Ch 3 to turn. 2. Work 1 dc in first st. (The needle shows the
first st).
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3. Like this. You have now increased 1 st. 4. Work 1 dc in each of the last 2 st.

4. - 83. Repeat the procedure: "Ch 3 to turn and work 1 dc in first st. Continue working 1 dc in
each st on the rest of the row” until you have worked 83 rows. (84)

Now the shawl doesn’t need to be any wider and you continue decreasing 1 st in every row. The
decrease is worked as follows:

84.Ch 3 to turn. Work the first 2 dc together (dc2tog) and continue working 1 dc in each st on the
rest of the row. (83)

s

1. Ch 3 to turn. 2. Now work the decrease. This is done by
working the 2nd and 3rd st together.

Hobbii.com - Copyright © 2019 - All rights reserved.



3. Like this. 4. Work 1 dc in each st on the rest of the row.

85. Ch 3 to turn. Dec2tog and work 1 dc in each st on the rest of the row. (82)

1. Ch 3 to turn. 2. Now work the decrease. This is done by
working the 2nd and 3rd st together.

ol

3. Like this. 4. Work 1 dcin each st on the rest of the row.
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86. - 165. Repeat the procedure: "Ch 3 to turn. Dc2tog and work 1 dc in each st on the rest of the row”
until you have worked a total of 165 rows. (2) Cut yarn and weave in ends.

Enjoy ©

Love from Hobbii.com
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